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| COMMON HALF YEARLY EXAMINATION-2024-25

Time Allowed : 3.00 Hours] Mu&l(t/l %kwﬁ-cl:l(?my [Max. Marks : 100
I.  Choose the correct Answer. 14x1=14
1.  IfAUB=ANB, then
@ A=B : (b) A=B (c) -AcB (d BcA
2. Forany three setA, B and C, (A-B) "N (B-C) is equal to ' :
" (a) AOnly (b) B Only (c) COnly d) ¢
3. Whichone ofthe following has a terminating decimal Expansion
(@ 5/64 b &g (c) 14/15 d T
4. If V80 = k5, , thenk = i
@ 2 - (b) 4 (c) 8 (d 16
5. If \IQ" ’\[92 thenxs —atacss 7 . e '
< , 4 ‘ | R ' 8
@) - 3 (c) 5 ‘ (d) TR,
6. |If x‘+6x’+ kx+6 is exactly divisible by (x+2), thenk = ?
(@ -6 _ (b) -7 e Q)58 : d -1
7. The zero of the Polynominal 2x + 5 is FrSe Rl VW
@ S (b) ¢50fp v i (o). 17 gl NI 2
The G.C.D of x* - y*and x2- y2is ISP Sl ok ¢
@ x-y* (b) x2-y? (©)  (x+y)? @) (x+y)*
9. Theangles ofthetriangle'are 3x-40°, x+20° and 2x-10° then the value of xis
(8) =400 = 7 e N IND) Y 3697 e T (e) 500 T (d) 450
10. - “AD is a diameter of a: cucle and AB is a Chord. If AD = 30cm and AB = 24cm then the distance of AB
from the centre of the circle is ;
(@ 10cm ’ (b) 9cm . (©) 8cm (d 6cm
11, Ifthe Y -coordinate of a point is zero then the point always lies ~———— : :
(@ inthelquadrant (b) inthell Quadrant (c) onX. axisf (d) ony-axis
12.  The point whose ordinate is 4 and which lies on the y- axis is -——— i
(@) (4.0) (b) (0,4) @ (4 @ 42
- 13, If sin 30° = x and Cos 30° = A thenx=+y2|s _ P S
c@ i O NP (6) 78I 9097 E I (d) “Cog 9o
14. The value of tan 72° tan 18%is S s v et :
(8) 207w T it TR (CRGRL s RO T T ROV TR SRR () a0yt S
PART-II: i b 87 T, I8 007 Bt :
| Answerany 10 questions. Question No. 28 is compulsory' i T o A 10x2=20
15. IfA={6,7,8,9}and B ={8, 10, 12} find AAB - PR e T ST S
16. Represent the following sets in Roster form. - _
i)  A=the setofall even natural numbers Iess than 20.
i) B={xxis perfect cube, 27< x< 216} ;
17. Add the following Polynomial.
O P(x)=6x2-Tx + 2 ; q(x) =6 x3-7x +15
18. Whatis the remamderwhen x 1+ 2018 is divisible byx 1
19. Venfythat1"09
20. Simplify: +9 Xl
D (2.75x 107) + (1. 23x10') ' i) (1.598 x10") - (458x10")
21.

Express *V108 in its snmplest form and find its order radicand.
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22. -The angles of a Quadrilateral are in the ratio. 2:4:5:7 find all the angles.
23.  Find the Value of X%in the following figures.
Find the Quadrant where the given pomts lie P( 7,6),Q (7, 2) R(-6,-7), S(3, 5) and T(3, 9)
25. Find the distance between the points (~4 3)and (2, -3) :
- 26. Fromthe given figure, R : 40
find all the Trigonometric ratios ofangleB ~ [& g

" g ’ ol
27.  Prove that 1 + tan? 30° = sec? 300 ; : : L o
28. Findthe Quotlent and remalnder when (4x3 +.6x2-23x +18) is divided by (x+3)

, ' < PART - IlI s _
i, Answer the followmg any 10 questions.Q. No.42 is compulsory. < . 10x5=50
29. Ifu={4,7,8,10,11,12, 15, 16}, A= {7,8,11,12} and B={4, 8, 12, 15}, then Venfy De Margon s Law,

(AuBy =ANB .. . YouTu be/Akwa Academy :
30. Inagroup of 100 students, 85 students speak Tamil. 40 students speak Engllsh 20 students speak

French, 32 speak Tamil and English, 13 speak English and French and 10 speak Tamil and French. If

each student knows atleast any one of these lang uages then fi nd the number of students who speak all
these three languages.?

Arrange in descending order ’*f_ 7, ‘*J—

Find the value of a and b if 7-2_ a7+ b

7T+2 :
Determine the value of m, if (x+3) is a factor of X3 - 3x2- mx + 24
Factorise x* + 13 x2 + 32x + 20 into linear factors
Solve: 2x-y=3and 3x+y=7 : g -
In a circle, AB and CD are two parallel chords wlth centre o and radlus 10cm such thatAB 16 cm and
CD = 12 cmdetermine the distance between the two chords.

If PQRS is a cyclic Quadrilateral in which £ PSR = 70° and ZQPR = 40°, then find ZPRQ

Show that the points A(1, 1), B(2, 1), C(2,2) and D (1, 2) are the vertices of a rhombus.
Find the Coordinates of the Points of trisection of the line segmentj Jornlng the points A (-5, 6) and B(4, -3)
Flnd the value of (Cos O° + sin 45° + sin 30°) (Sln 90° - Cos 45° + Cos 60°)

If 3 CotA=2, then find the value of 4sinA-3 CosA

2sinA+3cosA : :
In what ratio does the Pomt P (2, -5) divide the line segment Jomlng A( -3, 5) and B (4, -9)
. PART-IV _ .
Answer all the questions : , 2x8=16

»a) Construct the ALMN such that LM 7.5cm, MN S5cmand LN = 8 cm. Locate its centrord

(OR)

b) . -Construct the Circum centre of the trlangle ABC with AB = 5cm, AA 60° and AB“ 80°. also draw

the circumcircle and find the circum radius of the: AABC
a) Drav_v the Graph of y= 4x-1 (OR)
b) Draw the Graph of 3x+2y= 14 ‘ TPR /9/M t/2
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